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PHENIX detector acceptace
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Unselected-ratio for relative cut of the tracks
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Scanning FVTX coverage
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N(FVTX)-z(BBC z-vertex) dependence

h1 Eta_z

Eta_z °
3 n’ > O : 03 5 * bbc—z + 2 N 5 5 3 Entries 1.724578e+10
Mean x 0.4001
Mean y -0.6857
2 Std Dev x Std Dev x 5.43
Std Devy Std Dev y 1.885

n» -0.0275*bbc_z-1.325

-8 -6 -4 -2 0 2 4

Test run results : 454794 0 Total Run d+Au



N(FVTX)-z(BBC z-vertex) dependence
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N(FVTX)-z(BBC z-vertex) dependence
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“Different |eta| will be taken care in S and N”

<n<2.4

1.724578e+10

0.4001




